S S5EHEREVGEELBRBEAZERZS IR
(3H6H-3H12H)

S 1E O

ERABREE

kAR o fEFEEH SN B JARR{E
THE= 3 1 3 0
FOR 3 3 0 0
Jidids 3 3 3 0
IS 3 3 3 0
B4 #] 3 3 0 1
K 3 3 3 0
NIy B B BECLI] 3 3 0 5
R SR 3 2 3 0
B 3 3 0 0
AR (2
) 3 1 3 0
Ji g iy
77/ NN 2 2 2 0
2 15 14 15 0
2% el & 14 13 14 0
koo 5 Hrftia O 15 11 15 0
KA 15 12 15 0
MR 15 15 15 0
ey 12 12 12 0
JET g G 12 11 12 0
%< B 12 12 12 17
HL 15 4% Phrg 12 12 12 0
RFENT 9 9 0 4
Btk 12 9 0 0
TR A 12 12 12 0
X PRAE 8 6 0
B I 13 12 45
RS IR 13 13 13 0
I A 11 9 11 0
-l XI5 3 17 17 0 0
PELET 14 14 14 0
RRGCE 17 17 17 0
M 17 17 17 0
A 9 9 0
TR 11 11 0




14
14

14
14
14

14
14
14

B4

il

i’
\

K

L R=S




